
(Unit 3 : Price-Output Determination Under Different Market Forms)

(Learning Outcomes)



(oligopoly)







(PERFECT COMPETITION)

3.0.0 (Features)
5 

(i)
(ii) 20 
(iii)
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(i)

(ii)

(iii)

(iv)

(v)

(vi) (price taken)
(price taking)

(Price Determination under Perfect Competition)
(Equilibrium of the Industry)  
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14 

14 

14 OP OQ 

(Equilibrium of the Firm)

15 
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OP 
OP
OP

OP 

P-line (price taker)
D

4 : 

1 60 5
2 35 35
3 20 45
4 15 55
5 10 65

2 
2 ‘X’ 

X 4 

5 : 

2 8 16 2 2
2 9 18 2 2
2 10 20 2 2
2 11 22 2 2
2 12 24 2 2

X  2

AR = MR = Price
(Conditions for equilibrium of a firm)
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(i) MR = MC MR MC 

MR MC 
(MR = MC) 

MR = P,

(ii) MC MC MC 

16 

16 DD SS OP E 
OP P – 

P MR AR
 MC MR T R 

T MC MR T 
T 

R MC MR R OQ2
 

3.0.2 (Short run supply curve of the firm in a
competitive market) MC 
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17 

2 D1 2 
Q1 MR = MC 3 

1

Q21

D3 D4 Q3 Q4 
2

3 4 3 4

AVC 
AVC AVC

AVC
(AVC) 

3.0.3 (Can a Competitive firm earn profits?)

(Supernormal Profits)

1000 15,000 
50,000 10 
5,000 (10% × 50,000 20,000 (15,000 + 5,000

20 AR
(20 ATC (20 ) 22 AR (22 ATC (20

2 
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18 

(Supernormal profits) MR (Marginal revenue) MC (Marginal Cost)
U-shapedU-shaped E MRMR E

OQ
EQ BQ EB (AR – ATC), ABEP,

(EB × OQ; OQ = AB) Total Profit = TR – TC OPEQ OABQ
ABEP

(Normal Profits)
AR = ATC 

19 

MR = MC (E OQ ARAR
(ATC) AR = ATC OP = EQ, TR – TC

TR – TC AR = ATC OP = EQ, 
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(Losses)
AVC

MR = MC

20 
13 E AR = EQ ATC = BQ BQ > EQ,

BE ABEP.

‘‘Tasty Burgers’’ (price taker)
‘Tasty Burgers’
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 14 Tasty Burgers

 100 ‘‘Tasty Burgers’’  100

 14 ‘‘Tasty Burger’’ (price taker)

AR = MRAR = MR MRMR MC AR
= MR =  14 MR(14) = MC(14)

 960
 5

 9
3.0.4 (Long-Run Equilibrium of the Firm)

ATC

AC 
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ATC 

ATC 

 

21 

14 
OP SAC1 

LAC 
1

OP1 
14 ) 

1

LMC = LAC = P 
LAC

SMC = LMC = SAC = LAC = P = MR
LAC 

LAC SAC LMC LAC 
SMC SAC LAC 

3.0.5 (Long-Run Equilibrium of the Industry)
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22 

22 AR = MR = LAC = LMC E1 E1 LAC 
OM 

1 1

(Optimum firm) 

MC = AR
MC = AC

AC = AR
MC = MR)

LAR = LMR = P = LMC = LAC

(MONOPOLY)

3.1.0. (Features of monopoly market)

(1)
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(2)

(3)

(4) (Market Power)

(1)

(2)

(3)
(4) intellectual property rights

(5)

(6) Start-up

(7)

(8)

(9)
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(10)

3.1.2. (Monopolist’s Revenue Curves)

23 

23 A A 

5 
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5 : 

(AR = P) (TR) (MR)
0 10.00 0
1 9.50 9.50 9.50
2 9.00 18.00 8.50
3 8.50 25.50 7.50
4 8.00 32.00 6.50
5 7.50 37.50 5.50
6 7.00 42.00 4.50
7 6.50 45.50 3.50
8 6.00 48.00 2.50
9 5.50 49.50 1.50

10 5.00 50.00 0.50
11 4.50 49.50 – 0.50

10 
5 

9 8.50 8.50
8.50 

9 8.50 50 
9 2 3 7.50 

4 8.50 8 
6.50 

AR MR 
(i) AR MR 
(ii) MR AR Y 
(iii) AR MR 
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